Adding on 10 O numbers up to 100

T {30 }

501 23 4T 5 7 B S 1011 12 13514 35 1617 18 15 20 21 2225 24 25 25 27 28 2930
3' + 1 = 31 + 1 = 11 + 10 =
3 + 10 =__ 4 + 10= 60 + 10 =_
2= + 10=__ 66 + 1C = 49 + 1C =
8 + 10=__ 53 + 10 = SO+ 10 =__
8C + 10=__ 31 + 1C = 27 + 1C =
4C + 10 = 62 + 10 =

Working (Vlathematically

1) Jack has 52 cards. He then bought 10 more.
How many does he have now? _

2) Mara had this many marbles. €< éi é é

She then got 10 more.
How many deoes she have now?

3) Mr Jones gave 41 silver awards and 10 gold awards.
How many awards did he give out?
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